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No E PRI sk = ¥/ Rk N il FEBZ
1 —f% ZF 50m | BB TiRBS 4 1 10:00
2 30m £ ZF 50m | BB TikRs 4 1
3 40mE U ZF 50m | A B TikRs 6 1
4 50/ A k= ZF 50m|BEF TR 6 1
5 =G zF 50m | B A TiREs 5 1
6 —f% BF 50m | B TiRBS 9 1 10:15
7 30 E 2 50m | B B Tk 10 2
8 40 £ BF 50m|BEB® TR 10 2
9 50/ L E 2 50m | B B Tk 12 2
10 RHRERE BF 50m | BB Tk 11 2
11 | —#&/30mE | %7 50m |k E TikRs 3 1 10:42
12 | 40/50mM L zF 50m | &XE TiRES 7 1
13 AR ZF 50m |k E Tk 3 1
14 — % BF 50m [ E TiRBS 7 1 10:51
15 30 E 5 50m |k E Tk 3 1
16 407 E BF 50m (K E TiRBE 6 1
17 50 £ B 50m | &k E TR 8 1
18 AR BF 50m [k E TiRBE 1 1
19 — % ZF 50m| &7 54 TR 5 1 11:00
20 30m L E ZF 50m|N& 754 Tk 4 1
21 | 40/50mL £ ZF 50m| &7 54 TR 4 1
22 RHRERE ZF 50m|N& 754 Tk 1 1
23 — % L2 50m| &7 54 TR 6 1 11:12
24 30mL B7 50m|N& 754 Tk 7 1
25 A07R L £ =2 50m| &7 54 TR 8 1
26 50 B7 50m|N& 754 Tk 6 1
27 AR L2 50m| &7 54 TR 5 1
28 | —M&/30mUE | &TF 50m [ FikE TR 5 1 11:27
29 | 40/50mM L ZF 50m [FXE TikRs 5 1
30 AR ZF 50m [ FixE TR 3 1
31 — % 2 50m [FXE TR 8 1 11:36
32 30/ BF 50m [ FiKE TR 6 1
33 407RLLE =2 50m [FXE TR 7 1
34 50/ BF 50m [FiKE TR 10 2
35 RHRER L2 50m [FXE TR 4 1
36 — % ZF 4x50m|7U—UL— Tk 2 1 12:04
37 — % 2 4x100m|7 ) —1L— TR 4 1
38 30m L E ZF 4x50m|7U—UL— Tk 1 1
39 30mLLE BF 4x50m|7U—VUL— TikRs 5 1
BIRH

40 —% ZF 100m (B H# TiRBE 2 1 13:30
41 — % L2 100m |H B TikRs 8 1
42 —% ZF 200m |BA X KL — TRk 0 0 13:37
43 — % L2 200m (fBLA 4 KL — TikRs 4 1
44 —% ZF 100m | &k E TR 2 1 13:42
45 — % =2 100m [HXE TR 7 1
46 —% ZF 100m|"& 754 Tk 0 0 13:50
47 — % =2 100m (& 754 Tikis 3 1
48 —% ZF 100m | Fk E TR 1 1 13:54
49 —f% =2 100m [FX & TiREs 6 1
50 30mELL £ ZF 4x50m|X RL—UL— TR 1 1 14:22
51 30mLL £ =2 4x50m{A RL—UL— TikRs 5 1
52 —i% ZF 4x50m|X FL—1 L — TR 2 1
53 — % BF |4x100m|X KL—YL— TikRs 4 1

RTFE  14:50




